AT AERE) T — XAt 6 A M E TR O

(BERFE6 45)

1 WMEFPEORE BABER

88 2TH GHE#DTERI%E 141,049, 192 FH)

1. —fx=E

2 WEFEOAR
1. —RESAWETE (525)

(1) BEATEORTE
(A7« 1)
N R R T 7 A %
ot = Bt I Bl e e EEa e D e T ar ALe i A L -
B 4 éﬁgggg%h %ggﬁiﬁﬂ 882 | 2 sl 3k B il AR O WITICAR B 3 L4y
% A & B 882
(2) BT ORTE
(A7« )
% 4 B |k % 4 W | % @ | @ F & * 72 - 7
2/32%{:; ik B "_LL’\E‘E EETQ’/I& B = = =~ A QN Y S N R =] =
s CHPGRAIRTIE |8 L RAEAR 82| B ELE B 0 BT 1% 5 I 0k ELARN O 3 -
% H = B 882




BEEZEDPITICRDIFE LS MEMNE I OME

FTHM7E6 A4 BICAMSNERZEDERFONT %ﬁw%ﬁt:%ﬁ?éiﬂi@—%ﬂ’é&ETéiﬁﬁl:ﬁ%ﬁ
&, JIBHFRBOBE TEELHOD %GQD#&@JHBEU%H%#EIZEEWé%ﬁlJ/J‘E&IE SNHEL, FEERETICE
WHITEINAE2 TS EREEREEEDIITICRSIEEEBEOHRMEIEZELET,

[#Z%&]
No. HMBEA%E THIEZE N R =
OHIHFIREINLS A (WIERT: H%E9,600 — RIE# : H%E10,900M)
X% E 48 (SRIEHT: 1,651,200 — 2RIE#:1,874,800M)
OBEira AN (HIERT: H%E10,900 — ShiE#% : H%E12,400M)
P B &A (BIE T : 2,485,200 — BRIE#:2,827,200H)
sty e OB ELEE (HIERT: H%E812,800 — QWIEH: H%E14,500M)
1 |FEEEnE R R 8827FH §K$E§§E(E&IEEH:2,188,800H — SRIE#:2,479,500M)
OFEr& A (ZRIEHT: 1[E8,900 — 2RIE#% :1[E10,100M)
PG (BIEHT: 178,000 — 2RIE# :202,000)
OFELEE (RIEHT: 1[E10,800— KIE#%:1[E12,200M)
X P B %F (BIERT: 10,800 — TRIE:12,200H)
B 882+ M
[84iR]
BEXH£10.710 (BERZEEEERZPITRESD)
HLUEHE BBREEZESTHR




